
8

I.

rn

%
LL

rq

rl

r-1

.+

0

r\1

m
1.0

.C)

01
C

B
e

Z
LU

Z

<C

05
LU

0.

C

2

0

L.

rl

2

.C

U

.

CO

0

./

-E
ro

C
CD

3
C.

SHEET#

1

2

3

4

5

6

Clark Hall Iron Doors

GENERAL NOTES

GLAZED IRON SINGLE DOOR

(Arch Top)
INSWING/OUTSWING

"NON-IMPACT'

1. This product has been evaluated and is in compliance with the 5th Edition (2014)
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section 1609.1.2
of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

DESCRIPTION

Typical elevations, design pressures, & general notes
Door panel details & glazing details
Horizontal & vertical cross sections

Buck & Frame anchoring
Components

Bill of materials & components

0
X

0

e
m
I

LU

<C

E

A

X (/)

<2
E

01

11_

CONF/GURAT/ON

X

(Full Arch)
X

(1/2 Arch)

E

E

E

E

El

42' MAX O.A.

FRAME WIDTH

111l

1

111

X

3

3

3

3

m
I

3 
Ci

3 <

*8
3 3

-

CD
m
I

0
4

>2
<

/8
E

0

E

'

E

24.13" MAX. D.L.O.

WIDTH

OVERALL

FRAME

DIMENSION

42.0" x 120.0"

37.75" x 120.0"

E

E

E

E

E

Ill

..

3

3

3

3

3

MS
32
0 -
CO

_1-

.

0 . e
0

-

1* 2

.........

* pRO
Ilill//4

-11.%
= Oi @
5 02 0 0
1*1 7

"lilli

37.75" MAX O.A. 4SFRAME WIDTH O

18.88" MAX. D.L.O.

WIDTH

DESIGN PRESSURE (PSF)

INSWING OUTS NING

POS. NEG. « POS. NEG.

+65.0

+65.0

-65.0

-65.0

X

+65.0

+65.0

3

-65.0

-65.0

E

8
0

2

i,
a.

p Ct
0«

gd
@
ai

/44

8
0

Z

@

=1
<C

%
Ec,
.C 0
0*
019

LL

d
CZ
0

-0 .

CW

5 01

.% 0%
S: ,-E
E! 5=
i.: 0 Z

0

23
m

W

9

DWG. BY: JK

CHK. BY: LFS

[3

iE
lo

2

95

@

DATE: 10/30/13
SCALE: N.T. S.

DRAWING NO.:

FL-16663.1

SHEET 1 oF 6

0

If)

0 19

-2 d '
CD

0 -r
HOW

*209
5 0 0 00
D >40
0 -r •
Z O 00 0
0 1,9 Z
0 N ·:

e xz<
zo O
9*i
D .=m
m Q.Q. LL

EM

Lf,

SW
S°

-2

ZW
96
mz
OJ

ke

La (/)
LU

U 01

5
0

>
LU

0]

[9

0
N

0

Z

Z

J

Z

0

0

8

Z

0
-1

J

m



8

C\!
rl

If)

ri

E
r-1

ri

0

m

ID

LD

CJ)

C

e

E
8
0
C
CD

LLI

rl

<C
4.
U

ro

0

LL

<C

L
Z
LU

LU

a_

Ul
&--

8

.

C
CD

M

24.13" MAX. D.L.O.

WIDTH

e

I

LLI

Z

CL

r<

e
01
ZIZ

0
4

0

r

1

2

1--0
01

K.:

0

«B

38.75" MAX.
--

PANEL WIDTH

//1«,
1

0

ki

14 ;1 11
4 1

\CD

45

VEful
01

18.88' MAX. D.L.O.

WIDTH

L

0

I

0
--i

Ci

8o
CO

0

0 DOOR PANELw/ Operable Sash

1

2

td

L#

r , 10« p

= 0 1

0 43//

1

U

0

Ni

34.25" MAX.

PANEL WIDTH

i1111
-1-

1

1---
-f

tl

KO

--

V

MO

r

EXTERIOR G 1

1 f 1

INTERIOR 4 90'
60 ®

®
1 HORIZONTAL CROSS SECUON

2

0.75 " GLASS

BITE

5/8" GLAZING TAPE

(3M VHB)

#6 x 1" FH SMS (4" FROM CORNERS

& SPACED 16" O.C. ALONG JAMBS, 1 @ CL TOP & BOT.)

28 2A

#12-14 x 1" HWH SELF-DRILLING SMS w/

1«
1/2" CUSHIONED WASHER (6" FROM
CORNERS & SPACED 12' O.C.) ALL
AROUND SASH.

'-rE

U +
ALTERNATE FIXED SASH

.

1" THICK INSULATED GLASS

1
-1/8' TEMPERED

%_--- AIR SPACE

1/8' TEMPERED

ALUMINUM SPACER

 GLAZING DETAILOperable Door/Sidelite

ih

0 -0 1.5" 1-l
4 11

0.131. J.- i0.5" -4 lit

 Glazing Stop ® Sash Angle M\_/ Steel Steel -

DCIERIOR
%

INTERIOR

2 VERTICAL CROSS SECT/ON

2

EXTERIOR

S /,1

LE 29)
lit==11'

1

3 VERT/CAL CROSS SECT/ON

2

1

1

/%,%11:1111[9
3 4/

M:ir '* 1
s W:.0 2 E

* pfo

3 NO 4
2

E

8
0

p Ct
0«

11,
21,.

.:YS'. 0

0% *1 S o n
:<=g

53 zz - 2 &
4,92 12 6 31

1>40)
M .r .
ZO£00
0 19 Z
0 04 ·:

m

1 E w
0-09

LL

3
5

8
0

0
CZ

b
CD

LU

!2

8

2

@

0

3

12

g 525

542&
m a. 0. LL

DATE: 11/8/13
SCALE: N.T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL- 16663.1

SHEET 2 OF 6

5

LU

/2

0
Z

d CD
ZZ

06 CD
(D

80

Lul-

U)

Z

0

3

M

0
N

0

Z

01

Z

0

0

Z

0
.1

3

m



rn

,-4

rl

rn

rl

0

S

01

C

2

8

<C

1
Z
LU

CK

LU

E
8

e

8

0

LU

rn

-1

LL

IM

E
&

<C

CO

0

LL

CO

I

('0

C
(lj

54
Cks

1

3

E

E

E

E

E

El

A
8 //9

V

X

1,

ARCH TOP

V

3

3

3

2

Z 0-

· t.
M

.

.

. 21...... h.

®30

LOCK HARDWARE TABLE

MANUFACTURER

EMTEK

SUN VALLEY BRONZE

ACCURATE LOCK & HARDWARE

ASHLEY NORTON

ASHLEY NORTON

ACCURATE LOCK & HARDWARE

3

3

3

3

11 11

/Th VERTICAL CROSS SECTION
 Outswing Shown (Inswing Similar)

:·MODELS'

TUBULAR ENTRY SET

(SHERIDAN - 451812)

LEVER/KNOB ENTRY SET (RIDGE: CS-421 PLD)
MORTISE LOCK

TUBULAR ENTRY SET

(SQTUB w/ 900 SERIES KNOB)

MORTISE LOCK (SQMOR w/ 900 SERIES KNOB)
MORTISE LOCK

1-1/4" MIN.

EMB. (TYP.)

F

./
-

.

3 30

I i
I. /1
I . ,-aro 4

. 1 111* 1- -S1 ,

.1 '
.

''

U.-U 4»\ 1 x V\®

/Th HORIZONTAL CROSS SECT/ON
Lly Outswing Shown (Inswing Similar)

76 76

=5

30

4

1-1/4' MIN.

EMB. (TYP.)

B

/Th HOR/ZONTAL CROSS SECT/ON
L,/ shown w/ Optional Through the Frame Anchoring

9

D

355::..

E =CES Z
=01 9 *

I.

..

4'/4/,ilifill?

INTERIOR EXTERIOR

EXTERIOR INTERIOR

H n

"% 2/0

®\il=L=1
11 11 ///*(if)

-. -1 :« -Ti

UY£ d,.«:-
I .

/
6. I

/Th VERTICAL CROSS SECT/ON /Th VERTICAL CROSS SECT/ON
3-j Outswing Shown L/ Inswing sill

D

0

0-1

I',
A/.
:.U u
.....&& g

598212 63;
...* 8 # 0 2

D > Fi a
W -r .

ZO 00 0
019 Z

ON ·:

*

1E
8 Ec,
0 0/

B LL '
i c O

3
0

5

8
0

5

2

8

LO

2

95

e X21
zo

9:Ew
5 02&
m Cl_ Q- LL

@

0

3

DATE: 10/30/13
SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-16663.1

SHEET 3 OF 6

b
0/

52

ID

SW

-0

E is

05 Z
Lue
> A

380
-1

Z c')
O0

0

Z

Z

0

M

0

N

0

Z

m

Z

0
0

Z

9

m



8

.r

./

rn

r-1

-1

./

0

Ct

@
3

LL

01

<C

Z
LU

Z

<C

Cll

L.

C

C

e

&-

0

I.L.!

In

E
-1

LL

i
<C

S

3
ro

0

LL

CO

I

-E
.

C
CD

C.

1.

TYP. BUCK

TO MASONRY

MASONRY

D

§DOOR

11

-1

F

TYP. 2X BUCK

TO 2X BUCK

2X BUCK >2 6

-0

BUCK ANCHOR/NG
X

4"

(TYP)

f

R 0-

-0

Cl-

tr?

NOTE FOR THROUGH THE FRAME ANCHORING ONLY

ONE 2X BUCK IS REQUIRED, ANCHORED AS SHOWN.

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comets may be adjusted to maintain the min.

edge distance to mortarjoints.
2. Concrete anchor /ocations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortarjoints. additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ANCHOR

TYPE

ITW
®

TAPCON

ANCHOR

SIZE

1/4"

M IN.

EMBEDMENT

1-1/4"

MIN. CLEARANCE

TO MASONRY

EDGE

2-1/2"

ELCO

ULTRACON® 1/4" 1-1/4" 2-1/2" 4"

WOOD SCREW INSTALLAT ON NOTES:

Maintain a minimum 5/8" edge distance. 1"end distance, & 1" o.c. spacing of
wood screws to prevent the sp##ing of wood.

h

MIN. CLEARANCE

TO ADJACENT

ANCHOR

4"

2X FRAMING TO BE DESIGNED BY THE

ENGINEER OR ARCHITECT OF RECORD

2X BUCK

TYP. HEAD

& JAMBS 
.

ill-

E

.

d

=-4
00-

% 5

40
CO M

0

3

3

3

3

3 -r

3 -

%
51

132<

9 101
1 133*
b
10

"

.

xu

U.
-0

ALTERNATE ANCHORING

THROUGH THE FRAME

SUBSTITUTE ANCHOR @ EACH BRACKET

1.5' (TYP.1 -
0

.

t.
...I

a. 1..
%'r n -

13

11

Z

20

K 0

0

2X BUCK 7

TYP. HEAD L

& JAMBS 
MASONRY 

FRAME ANCHORING

X

STR/KE DETAILS

Erntek Lock & Deadbolt

Ashely Norton Lock & Deadbolt

q

ii

2X FRAMING TO BE

 DES\GNED BY
THE

ENGINEER OR

ARCHITECT OF

RECORD

-.1 5

ii

r/-014

17

STRIKE DETAILS

Accurate Mortise Lock

4

3

E

3

3

X a-

f0 0

-0

3

4

4,5.·

E *ES %- Z.

= 011 9*-

4,2.......... 
„„iii„ it

00

5
D

@

billill,
.fil/0/:.

-.

*
K
m

:6

5 0% J=O 19

< 0: 1- k 55

»0854 6@
/,00 2 2 09

5 0 0 cO
D > 4 0)

ZO%0
Orr) Z
ON ·:

CD x Z n

i ig a
2 &* =! don-
a. 7 D .Im

m n_ a_ it

C 0

E gz
8 -2 w
0 j .

3
0

8
0

Z
0
Q=

=1
.C

0

2

b
CO

LU

52

10

2

95

@

DATE: 10/30/13
SCALE: N. T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-16663.1

SHEET 4 OF 6

8

0

21

L0

- LU

-2

EM

Lu

LL QC
0

05
MZ
0<

(/)

Z

0

Of

0

Z

01

Z

0

0

[9

Z

0
-1

J

m

M

r·

0
N

0

1



8

LA

r-i

r
-C!
'3

./

rti
ID

UD

I.

3
r-1
0

N

rn

U)

C

B
e

<C

tr
Z
LU

a_

8

E
8
L_

0
C
CD

LU

rl

S

<C

U

ro

LL

2
-E
{0

C
<D

CE

22
d

6'

1- 1.25"

FE- 0.052"

EXTER[OR

 Full Ute Door PanelActive Hinge Stile

01

-] 2.85" 1--
i j--1

-f
- - 0.75"

· · 0.072"

.. 2.1"

 FuN Ute Door PanelBottom Rail

ER
.0

-- 1.25"

O.052" --Fl -T
0.072' -- 1
1 4 6"& V

 Full Life Door PanelActive Latch Stile

0.072"

2.85"

04

k-- O.75, f

 Full Life Door PanelTop Rail

f

L
43
(b

%8

0.072" -

· 1.5"

/* lamb

k

ic>

1-- 3" -4 -J »-0.187'

ip
/15\ ANCHOR BRACKET

29

4> 4.....
2 e:
22 g
-

Eo!§ 9 *
3 WE O 12

D

@
a_

jill"

11 013 %-
5 i.: 02
':ee
es
*
2

'9 E

a· 59
£ lie
B k '
E

3
0

8
0

Z

@

.C
ZE

b
CO

U)

0.

0

g
.R

O 19

-z 2 1
I In
0 .r
# 00)

D>40)
M .r .
ZO.0
Orr) Z
C) 04 ·:

e x2<
zo O
- O 00_
D .£ m
m 0-0-1.L

DATE: 10/30/13
SCALE: N.T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-16663.1

8

iE
LO

2

W

D

@

0

to

Sw
S¤
-9

SHEET 5 OF 6

r

Z

2

8

Lr

Z

0

(/)

3

M

0

N

0

Z

m

Z

0

0

Z

0

-1

[0



ID

.4

P
-0

rn

ri

.ri
t,D

ID

<D
rl

I.

ILL

0

[3
nl

E
I.

ILL

'Gr
01

C

8

E
8
6-

0

CD

LU

rn

m
i.

IL

3
a

<C

S
J

(0

1-

0

1-1-

Z
L.1-1

Z

<C

CC

Ul

0-

e

8

C

2

ro

4-J

C
CD

51
C£

ITEM#

B

D

E

F

G

H

j

L

M

P

1

2

3

4

11

12

13

14

15

17

20

25

26

27

28

29

30

31

32

43

44

45

60

61

76

DESCRIPTION

BILL OF MATERIALS

2X BUCK SG >= 0.55

1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW

MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO AC1301

OR HOLLOW BLOCK CONFORMING TO ASTM C90

#10 X 3" PFH WOOD SCREW

5/16" X 2-1/4" HH ELCO OR ITW CONCRETE SCREW

5/16" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW

3/16" X 2-1/4" PFH ITW CONCRETE SCREW

5/16-18 X 1-1/2" HH BOLT (GR. 5) w/ LOCK WASHER & NUT
3/8" X 3" HH LAG SCREW

#12 X 1 -1/2" HWH SMS

SASH LATCH STRIKE

SASH LATCH

#8 X 1 /4" PFH SMS

WEATHERSTRIP (QLON)

LATCH STRIKE PLATE

#8 X 3/4' PFH SMS

DEADBOLT STRIKE PLATE

MORTISE LOCK STRIKE PLATE

ANCHORING BRACKET

#12-24 X 13/16" PFH COMBINATION WOOD/MACHINE SCREW

FLIP BOLT

#6 X 1 /2" PWH SELF TAPPING SMS

OUTSWING THRESHOLD (DLP)

ADA THRESHOLD

INSWING THRESHOLD (AFCO)

DOOR SWEEP (w/ #8 x 3/4' SMS)

DOOR PANEL (FULL LITE)
HINGE STILE (ACTIVE DOOR)
LATCH STILE (ACTIVE DOOR)
BOTTOM RAIL (FULL LITE)
TOP RAIL (FULL LITE)
DOOR PANEL HINGE

SASH LITE FRAME

SASH HINGE

JAMB

MATERIAL

WOOD

STEEL

CONCRETE

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

FOAM

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

ALUM/COMP

ALUM

ALUM/COMP

ASTM A36 STEEL

ASTM A36 STEEL

ASTM A36 STEEL

ASTM A36 STEEL

STEEL

STEEL

STEEL

ASTM A36 STEEL

f
h

2. -

2.56"

4.56"

® OUTSWING THRESHOLDDLP

fo

0

5"

 ADA THRESHOLD

bO7 [jfgmilifz-.AEAT.65#/.2,)'Ii----------TIZA:2
. 5.62"

 INSWING THRESHOLDAFCO

r

0!

00.4.....
3 41/

58/2 8 b
= 0:S**E3 0.:.3 2

74 *pvty

>

\\30
2

:
CL

C

E

8

F Ck

g 3
Cl 0
0

El

3

5
QI

4/4
.flit<,55.

O% J=0 n

El % =g- 2 k

6 97% z p & m
... 'e ¢ 2 5 lo -
,%,0 -1 0 ©co

z c:;18 6
019 Z

4 ON.:

8

-O 0 x20<
Ec, z.®u
.CO q CW
0* /don-
U) 1.r D .-cm

m a. 0- LL

£1 5/

b
CD

1*

5

/2
<C

a-1

DATE: 10/30/13
SCALE: N. T.S.

DWG. BY: JK

CHK. BY: LFS

8

lf)

%

lo

k·

DRAWING NO.:

FL-16663.1

SHEET 6 OF 6

0

3

0
Z

DS Z
LULU
1-Z
<0
10-

LL 1
08

00

03

Z

0

>
LIJ

Di

CE

M

0

N

0

Z

m

Z

0

0

8

Z

0
-1

m


